
1

217669 2 19 216022 1
; 215988 1 20 219963 1
3 217376 1 21 216025 2
4 216903 2 229069 1

%5 223730 1 216022 1
6 215993 1 24 235642 2
7 216591 1 25 216920 1
8 216108 26 235593 1

: 279 219078 219508 2
10 223196 1 28 217669
11 ;219145 1 29 219079
12 222758 1 30 218962

;13 216226 1 31 219194
14 FIGURE 3 32 219150 1
15 218933 1 33 FIGURE 4
16 219070 1 34 219152

;17 216575 1 35 235642
18 216025 2 36 215515 1
37 222480 2 55 213178 1
38 216022 2 56 216583 1
39 217388 1 57 215525 1
40 .223326 1 58 216022 4
41 .215874 1 59 215540 1
42 .216590 1 60 217320 2
43 .216092 1 61 216027 4
44 .216093 1 62 215541 1
45 .216792 1 63 217158 1
46 .218941 1 64 216591 2
47 .300474 1 65 217159 1-
48 217382 1 66 223902
49

1
217387 1 67 217548 1

50 .217264 1 68 .215534 1
51 .93720 1 69 .218063
52 .215495 1 70 .213186 ;
53 300700 1 71 ●213187 1
54 217390 1 72 213191 1
73 216060 1
74 215536 1
75 223770 2
76 215538 2
77 215539 1
78 222594 1
79 ,218275 1
80 ,111026 2
81 .217475 1
82 .215542 1
83 218106-01 1
84 213282 2
85 102164 1

110984
i% 215545 :
88 83859 1
89 FIGURE 4



54

5564
56575859 60 ‘

41

42

@—36 ~

93 —

21—

4

.

–e
% o

12-

-
G

w

. . .
“.

6

Q
B —2

@i—————— 1 ?0 — ‘&-

240481 1 19 ● 236642 4 38 ● 227074 2
;

58 ●229973 1 76 229831 1
240618 1 20 .236936 4 39 .229846 4 59 .229823 1 92 235803 M5x25 2

3 240615 1 22 228152 2 40 235912 2 60 .227763 1
4 240476

93 236381 M5x1O 1
1 23 236389 M6x1O 2 41 227233025 1 61 ,229824 1 94 236529 3

5 240501 1 24 236642 2 42 220486 1 62 ,229846 3
6 ●240478 1 25 227280 1 43 240482 1 63 ,227074 2
7 .240522 1 26 .229837 1 44 FIGURE 4 64 .229820 1
8 0240523 1 27 ,229836 1 46 218391 1 65 227054 1
9 .235802 M5x14 6 28 .229824 1 47 .216782 2 66 227082 2
10 .236732 29 ●229823 1 48 ,236528 2 67 235912

;
1

11 ●236529 30 .227064 1 49 .236936 2 68 229985 1
12 .229971 1 31 .227058 1 50 ●235248 4 69 229984 1
1“3 ●235803 M5x25 1 32 ●227065 1 51 .236529 4 70 229846
14

2
228862 1 33 .229973 1 52 .216781 M5x25 4 71 235211 M5x30 1

15 227068 1 34 .227067 1 54 240504 1 72 235912 1
16 ●227045 1 35 n 227073 1 55 .227784 1 73 229850 1
17 .227046 1 36 ●236394 1 56 .229818 1
18 .228320 M6x45 4

74 236394 1
37 .236981 1 57 .240091 1 75 229832 1 139



WALBRO WA 146

8

236762
— 224141-03 Carb.

1 229198 1
2 .229191 1
3 226041 1
X., L
*G%
4 226042 1 8 229607 1
5 226043 1 9 229606 1
6 229605 1
7 229612 1
R%z
1

1 219386 1
2.235433 1
3.235922 1
4.215533 1
5 222430 1
6 219383 1

1 219848-01 1
2.235433 1
3 ● 235922 1
4 ● 215533 1
5.222308 1
6.219383 1
1 228148 –
2.229697 1
3.229726 1
4.227693 2
5.229860 1
6.229695 1

7.229727 1
8.229692 1
9.229859 1
10.229287 MEixIz1
11.236934 1
140


	Pro Mac 2000, Pro Mac 2100
	Figure 1
	Top
	Bottom
	Parts List

	Figure 2
	Top
	Bottom
	Parts List

	Figure 3
	Part List

	Figure 4
	Parts List

	Figure 5
	Parts List



